HW 10.1 (a) Key

1. Prices for a nondividend-paying stock are modeled by the 1-period binomial tree shown below, with the period
being 9 months and the probability of an up move being p = 60%. Find « , the continuously compounded
expected annual yield on the stock. [20a 01] 4= iy = 3 /of
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2. Prices for a nondividend-paying stock are modeled by the 1-period binomial tree shown below, with the period
being 6 months and the probability of an up move being p = 55%. Find the expected payoff of a 155-strike,
6-month European call with a premium of 15.64. [20a_02]
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3. Prices for a nondividend-paying stock are modeled by the 1-period binomial tree shown below, with the period
being 4 months and the probability of an up move being p = 70%. Find the continuously compounded expected
annual yield of a 87-strike, 4-month European call with a premium of 8.82. [20a_03]
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4. Prices for a nondividend-paying stock are modeled by the 1-period binomial tree shown below, with the period
being 8 months and the probability of an up move being p = 60%. Find the expected payoff of a 134-strike,
8-month European put with a premium of 5.39. [20a_04]
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5. Prices for a nondividend-paying stock are modeled by the 1-period binomial tree shown below, with the period
being 9 months and the probability of an up move being p = 45%. Find the continuously compounded expected
annual yield of a 107-strike, 9-month European put with a premium of 8.36. [20a_05]
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